
Français	
  10	
  –	
  Le	
  verbe	
  manquer	
  
Adapté	
  de	
  LFI6	
  

	
  
Contrairement	
  à	
  l’anglais,	
  lorsque	
  le	
  verbe	
  manquer	
  signifie	
  s’ennuyer	
  de,	
  c’est	
  la	
  
personne	
  dont	
  on	
  s’ennuie	
  qui	
  est	
  le	
  sujet	
  du	
  verbe	
  et	
  la	
  personne	
  qui	
  s’ennuie	
  qui	
  
en	
  est	
  l’objet	
  indirect.	
  	
  
	
  
Ex	
  :	
  He	
  misses	
  you.	
  	
  à	
  Tu	
  lui	
  manques.	
  
	
  
	
  
Exercice	
  1	
  
Remplacez	
  le	
  verbe	
  s’ennuyer	
  par	
  le	
  verbe	
  manquer	
  dans	
  les	
  phrases	
  suivantes.	
  
	
  
Exemple	
  :	
  Je	
  m’ennuie	
  de	
  toi.	
  à	
  Tu	
  me	
  manques.	
  
	
  

1. Il	
  s’ennuie	
  de	
  sa	
  mère.	
  
_________________________________________________________________________________________	
  
	
  

2. Il	
  s’ennuie	
  de	
  moi.	
  
_________________________________________________________________________________________	
  
	
  

3. Nous	
  nous	
  ennuyons	
  de	
  vous.	
  
_________________________________________________________________________________________	
  
	
  

4. Vous	
  vous	
  ennuyez	
  de	
  lui.	
  
_________________________________________________________________________________________	
  
	
  

5. Elle	
  s’ennuie	
  de	
  lui.	
  
_________________________________________________________________________________________	
  
	
  

6. Je	
  m’ennuie	
  de	
  toi.	
  
_________________________________________________________________________________________	
  
	
  

7. Il	
  s’ennuie	
  de	
  vous.	
  
_________________________________________________________________________________________	
  
	
  

8. Elles	
  s’ennuient	
  de	
  nous.	
  
_________________________________________________________________________________________	
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